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k1269 A 181 1 T RO FRTAR R IR KFBAR 1227/ D16 B ERABERRHFRT R ="T H 17%4A 5
k1269 A 181 1 RO FRTAR R HERT KB AR 1227/ D23 B ERABERRHFRT R ="T H 17%65
F124¢9 A 18 A | By IR BB R AT R F-8BAMR [1227F D22 BEEARBCRIHTR R =T H 17& 75
Tk126p9 A 181 | 1 T BN FRIAR R FERT KRB AR |1227F D21 B ERARBERR IR R ="T H 17%8 %5
k1269 A 18 H 1 T BN FRIAR R FERT R AR |1227& D20 B ERARERRHRT R ="T H 17%&9%
T126p9 A 18 H 1 T BN FRTAR R FERT R AR |1228F D8 a—RT-M B B ARSI R =T H 18% 175
k1269 A 18 H 1 T BN FRTAR R HERT KA R 1227/ #1028 B ERARERRHRT R =T H 18% 7%
k1269 A 18 H 1 T BN FRTAR R HERT KB AR 1227/ #1029 B ERARERRHRT R =T H 18%8%
Trk126e9 A 18 H 1 T BN FRIAR R FERT R AR |1227& D30 B ERARERRHRT R ="T H 18% 9%
Trk126p9 A 18 H [ 1 T SR ONFRIAR R HERT R BALR |1227F D31 B ERARERRHRT R ="T H 18%10%
k1269 A 18 H 1 T BN FRIAR R FERT R AR |1227& D32 B ERARERRHRT R =T H 18%11%
1269 A 18 H 1 T BN FRTAR R HERT KA R 1227/ #1033 B ERARERRHRT R =T H 18%12%
Trk126p9 A 18 A 1 T B PR R HEIT R A R |1227&K D34 B ERARESR TR =T H 18%13%
Tk126p9 A 18 A 1 T RN FETAR R BT KB AR 1227/ D35 B ERARESR TR =T H 18%14%
Tk126p9 A 18 A 1 T BN FETAR R BT KA R 1227/ D36 B ERARIESRHFET R =T H 18%15%
Trk126p9 A 18 A 1 T U PRI AR R HEIT R AR |1227&F D37 B ERARESRHET R =T H 18%16%
T126p9 A 18 A 1 T RO TR AR R HERT R AR | 12278 R RAESRHHT =T H 18175
Trk126p9 A 18 A 1 T BN TR AR R HERT R @ALR |1227F HiD9 B ERARESRHET R =T H 18%F 175
Trk126p9 A 18 A 1 T BRI AR R HERT R ALR |1227F D7 B ERARESR TR =T H 18%18%
Tr126p9 A 18 A [ 1 T BN PRI AR R BT KA R |1227F D8 B ERABESRHET R =T H 18%18%
Fre126£9 7 18 A | 1 B IR RR R FRHT R F8BAL [1227F D6 B ER MBI R R =T H 18%19%5
k126897 18 A | 1 T IR BB R FEHT R F8AR (12278 HiD2 B ER MBI R R =T H 18%20 %=
Fre124£9 7 18 A | 1 IR BB R FEHT R F8A R [1227F D44 =TT B ERAMESRHAT R ="TH 18%22 %
k12489 18 A | 1 T IR BB R FEHT R F8A R [1228%HID5 B ERAMESRHAT R ="TH 18%24 %
Frk124£9 7 18 A |1 B IR RR R FRHT R F8BAR [1228%F D26 B ERAMESRHAT R ="TH 18%26 %
Fre124£9 7 18 A | 1 T IR BB R FEHT K F8A R [1228% 1D 30 B ERAMESRHAT R ="TH 18%27 =
k12429 18 A |1 T IR BB R FEHT R F8A R |1228%FHiD31 B ERABESRHETHR L =T H 18%28%
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k1269 7 181 1 T BN FRIAR R FHERT R AR |1228%F D32 B ERARASR TR =T H 18%29%
k1269 7 181 1 T BN FRTAR R HEIT RF AR |1228F D1 =Ra—R R A MBI R =T H 18%30%
k1269 A 181 1 T BN FRIAR R FERT KRB AR |1228F D22 a—RitE B ERABERRHFRT R ="T H 18%31%
Tk126p9 A 18 1 | 1 T BN TR AR R HEIT R |1228F HiD2 B ERAMESRIHT P =TH 19725
k1269 A 181 1 T RN FRTAR R HERT KPR |1228FK D19 B ERARBERR IR R =T H 19755
Fr12¢F9 A 18 A | By B IR FAAR AR HHIT R F-8BAR [1228%FH1iD18 BEREARBCRHHTH R =T H 19%65
k1269 A 180 1 T BN FRIAR R IR R AR |1228F D17 B ERABERRHFRT R ="T H 19575
k1269 A 181 1 T RO FRTAR R HERT KPR AR |1228FK D16 B ERABERRHFRT R ="T H 19785
k124697 18 A | By B IR AR AR AT KT 8BAR [1228F D15 BEEARBCRIHTR R =T H 19% 9%
k1269 A 181 1 T BN FRIAR R R KRB AR |1228%F D14 B ERARBERR IR R ="T H 19%10%
k1269 A 18 H 1 T BN FRIAR R R R AR |1228F D10 B ERARERRHRT R ="T H 19%11%
Trk126p9 A 18 H 1 T BN FRIAR R HERT R AR |1228F D11 B ERARERRHRT R =T H 19%12%
k1269 A 18 F 1 T BN FRTAR R I KA R |1229F D1 B ERARERRHRT R =T H 19%14%
Trk126p9 A 18 H 1 T BN FRIAR R FERT R AR |1229% #1050 B ERARERRHRT R =T H 19%16%
Trk126p9 A 18 F 1 T BN FRTAR R HERT KB AR |1229F #1099 B ERARERRHRT R ="T H 19% 175
k1269 A 18 H | 1 T BN FRIAR R FERT R AR 12298 #1100 B ERARERRHRT R ="T H 19%18%
Trk126p9 A 18 H [ 1 T BN FRIAR R FHERT RS |1229% D81 B ERARERRHRT R =T H 19%19%
1269 A 18 H 1 T BN FRTAR R HERT KB AR 1229 #1083 B ERARERRHRT R =T H 19%19%
Trk126p9 A 18 A 1 T B TR AR R HERT R AR |1229% D37 B ERARESR TR =T H 19%20%
Trk126p9 A 18 A [ 1 T RN FRIAR R HERT R ALR |1229% D91 B ERARESR TR =T H 19%&20%
Tr126p9 A 18 A 1 T BN FETAR R BT K- AR |1229%K #1038 B ERARIESRHFET R =T H 19%21%
Tk126p9 A 18 A 1 T BN FETAR R BT KA R |1229F #1049 B ERARESRHET R =T H 19%22%
Tk126p9 A 18 A 1 T BN FETAR R BT KB AR |1229F #1048 B ERARERR TR =T H 20%&3%
Tk126p9 A 18 A 1 T BN FETAR R BT K- AR |1229% #1039 B ERARESRHET R =T H 20%A4%5
Trk126p9 A 18 A 1 T BN PR R HEIT R A R |1229% D97 KINAY B B ARSI R =T H 20%67
T126p9 A 18 A 1 T BN FETAR R BT KB AR |1229F #1065 B ERABESRHET R =T H 20%& 75
k12489 18 A | 1 T IR BB R FEHT R F8A R [1229%H1D60 B ERABESRHET R =T H 20%&87%
Fre126p9 7 18 A |1 B IR RR R FRRT K F8BAMR [1229% D66 B ERABESRHET R =T H 20%&87%
Fre124p9 7 18 A | 1 B IR AR R FRRT R F8BAMR (1229 #1058 B ERABESRHETHR L =T H 20%&9 %5
124297 18 A | 13 T IR BB R FEHT R F8AR |1229%H HERAMBKAITRR=TH [20%10%
k124897 18 A | 1 T IR R BR R FEHT R F8AR [1229%HiD2 B ERABESRHETHR L =T H 20%&11%
Frk124p9 7 18 A |1 B IR AR R FHHT R F8BAMR (1229 H1D53 B ERABESRHETHR L =T H 20%12%
Frk126p9 7 18 A |1 B IR RR R FRHT R FBAMR [1229F D56 B ERABESRHETHR L =T H 20% 1475
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k1269 7 181 1 T BN FRIAR R FERT KRB AR |1229% D57 B ERARASR TR =T H 20%15%
k1269 7 181 1 T BN FRIAR R FERT KRB AR |1229% D62 B ERARASR TR =T H 20%15%
F124£9 A 18 A | 1 IR BB R AT R F-8BALR [1229F D61 BERARBCRIHT R =T H 20%16%
k1269 A 181 1 T RO FRTAR R HERT KF AR |1229F #1063 B ER AR R =T H 20%16%5
k1269 A 181 1 T BN FRIAR R FERT KRB AR |1229% D64 B ERARBERR IR R =T H 20%&175
F124£9 A 18 A | By IR BB R AT R F-8BAMR (1229 #1040 BEREARBCRHHTH R =T H 20%19%
k1269 A 180 1 T BN FRIAR R R KRB AR |1229F D47 B ERABERRHFRT R ="T H 20%&20%5
k1269 A 181 1 RN FRTAR R FERT K BAR |1229F D46 B ERABERRHFRT R ="T H 21%3%5
F124£9 7 18 A | By IR BB R AT R F8ALR |1229F D41 BEEARBCRIHTR R =T H 21%A5
k1269 A 18 H [ 1 T BN FRIAR R FERT KRB AR |1229% D34 B ERARBERR IR R ="T H 21%&5%5
Trk126p9 A 18 H 1 T BN FRTAR R HERT KB AR |1229F #1029 B ERARERRHRT R ="T H 21%6%5
Trk126e9 A 18 H 1 T BN FRIAR R FERT KRB AR |1229F D22 B ERARERRHRT R =T H 21K 75
Trk126p9 A 18 H 1 T BN FRIAR R FERT R AR |1229% D10 B ERARERRHRT R =T H 21%9%=
k1269 A 18 H 13 T BN FRTAR R AT KB AR |1229F #1096 B ERARERRHRT R =T H 21%12%
k1269 A 18 H | 1y T BN FRIAR R HEIT R BALR |1229% D5 B ERARERRHRT R ="T H 21%13%
Trk126e9 A 18 H | 1 T BN TR AR R HEIT R BALR |1229% D9 B ERARERRHRT R ="T H 21%14%
Trk126p9 A 18 H [ 1 T BN FRIAR R FHERT R BALR |1229% D21 B ERARERRHRT R =T H 21%16%
Tr126p9 A 18 H 1 T BN FRTAR R HERT KB AR |1229F #1093 B ERARERRHRT R =T H 21%16%
Trk126p9 A 18 A 1 T RO FRTAR R HERT R AR 112298 1D 30 HERAMBKAITRR=TH [21F17%
Trk126p9 A 18 A 1 T B PRI AR R HERT R AR 11229 D42 B ERARESR TR =T H 21%19%
Tk126p9 A 18 A 1 T BN FETAR R BT KB AR |1229F D45 B ERARIESRHFET R =T H 212075
Tk126p9 A 18 A 1 T RN FRTAR R AT KA R |1230F D23 B ERARESRHET R =T H 22%3%
Tk126p9 A 18 A 1 T RO PRI AR R HERT R A R |1230% D24 B ERARERR TR =T H 20FK A=
Trk126p9 A 18 A 1 T BN PR R FHERT R A R |1230% D14 B ERARESRHET R =T H 22%5%
Trk126p9 A 18 A 1 T BN FETAR KRBT KB AR |1230F #1013 B ERARESR TR =T H 22%8 %
Tk126p9 A 18 A [ 1 T BRI AR R HERT R ALR |1230%F D11 B ERABESRHET R =T H 22%11%
k124897 18 A | 15 IR BB R FEHT K F8A R [1230%FHID10 B E R AMESRHAT R ="TH 22%12%5
k124897 18 A | 1 IR RB R FRHT R F8BAR (1054 D8 B E R AMESRHAT R ="TH 23%1%5
k124897 18 A | 1 T IR BB R FEHT R F8AR [1054F D7 B ERAMESRHAT R ="TH 23%F 2%
Fre124£9 7 18 A | 1 T RN RV RR R FEHT R F- 8Kk |1053 % HERAMBKAITRR=TH [23%5%5
k12489 18 A | 1 T IR BB R FEHT R F8A R |1053%FHID1 B ERAMESRHAT R ="TH 23765
1269 7 181 | 1 T RN FIER R HERT R 8 AR |1053F D21 HERAMBKAITRR=TH [23%6%5
Frk124£9 7 18 A | 1 B IR I RB R HRHT R F8AR [1053F D19 HERAMBKAITRR=TH |[23%&75
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k1269 7 180 1 T RO FRTAR R I KF AR |1053F D28 B ERARASR TR =T H 23%8%
k1269 7 181 1 T BN FRTAR R FHEIT KRB AR | 10563 D27 B ERARASR TR =T H PRESRZ
k1269 A 181 1 T BN FRIAR R FERT R AR | 105378 HERAMBKHIRR=TH [23%10%
k1269 A 18 H 1 T RO FRTAR R IERT KB AR |1053F D25 B ER AR R =T H 23%F11%5
k1269 A 181 1 T RO FRTAR R HERT KB |1053F D13 B ERARBERR IR R =T H 23%125
F124¢9 A 18 A | By IR AR AR AT R F-8AMR [1053F D14 BEREARBCRHHTH R =T H 23%13%
k1269 A 181 1 T RN FRTAR R JERT KB AR |1053F D15 B ERABERRHFRT R ="T H 23%14%5
k1269 A 18 H 1 T BN FRTAR R FERT KRB AR |1230%K D6 B ERAMESRIHT R =TH 23%15%5
F124£9 A 18 A | By IR BB AR AT R F-8BAMR [1230%FHiD34 BEEARBCRIHTR R =T H 23%16%
k1269 A 181 1 T RO FRTAR R R KRR |1230F #1038 B ERARBERR IR R ="T H 23%F175
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT R ALR |1230%F D4 B ERARERRHRT R ="T H 23%18%
k1269 A 18 H 1 T BN FRIAR R FERT R AR |1230% D22 B ERARERRHRT R =T H 23%19%
k1269 A 18 H 1 T BN FRTAR R HERT KB AR |1230F D25 B ERARERRHRT R =T H 23%19%
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT R ALR |1230% D3 B ERARERRHRT R =T H 23%20%5
Trk126p9 A 18 H | 1 T BN TR AR R HEIT KRB ALR |1051 % HiD5 B ERARERRHRT R ="T H 23%26%
1269 A 18 H 1 T BN FRTAR R FERT KB AR | 1051FK D6 B ERARERRHRT R ="T H 23%27 %5
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT KRB ALR |1051 %D 7 B ERARERRHRT R =T H 23%29%
Trk126p9 A 18 H | 1 T BN FRIAR R HEIT KRB ALR |1051 % HiD3 B ERARERRHRT R =T H 23%30%5
Tk126p9 A 18 A 1 T BN PRI AR R HERT R =@ ALR |1054F D5 B ERARESR TR =T H 23%30%5
Tk126p9 A 18 A 1 T BN PRI AR R HERT R -8 ALR 11054 D9 B ERARESR TR =T H 23%31%
Trk126p9 A 18 A 1 T RO FETAR R BT KA R |1054F D13 B ERARIESRHFET R =T H 24F 15
Trk126p9 A 18 A 1 T BN PR R HERT R AR 11054 D12 B ERARESRHET R =T H 24735
Trk126p9 A 18 A 1 T BRI AR R HERT R ALR |1054F D11 B ERARERR TR =T H 24FK A5
Trk126p9 A 18 A 1 T B PRI AR R BT R AR |1051F D12 B ERARESRHET R =T H 24755
Trk126p9 A 18 A [ 1 T BRI AR R HERT R ALR 11054 D2 B ERARESR TR =T H 24755
T126p9 A 18 A [ 1 T RO FETAR R BT KB AR |1051F D13 B ERABESRHET R =T H 247645
k12489 18 A | 1 T IR BB R FEHT K F8A R (1051 D10 B E R AMESRHAT R ="TH 24%& 75
k12429 18 A | 1 T R BB R FEHT R F8A R [1051FHID11 B E R AMESRHAT R ="TH 24% 9%
Fe124p9 7 18 A | 13 T IR BB R FEHT R F8A R |1055%H HERAMBKAITRR=TH [25%&8%
124897 18 A | 13 T IR VBB R FEHT R F-8AR |1050%H HERAMBKAITRR=TH [25%&11%
Frk124£9 7 18 A | 13 T RN I RR R FEHT R F-8AR |1050%H HERAMBKAITRR=TH [25%&12%
124897 18 A | 1 T IR VBB R FEHT R F- 8K R |1048%H HERAMBKAITRR=TH [26%&17%
k124897 18 A | 1 T IR VBB R FRHT R F8AMR [948F D7 HERAMBKAITRR=TH [27F&15
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1269 7181 1 T RO FRTAR R FERT KRB AR |948F D6 TEIR~ S a B ERAMBSRIHT R =TH 27% 2%
a2 18 1 [ 57 2 BN AR R IFRT R 8A R | 10467 H B ERAMBRHITRR=TH |[27%3%
Tk126p9 A 18 1 | 1 T BN TR AR R HEIT R BALR 10445 HiD2 B ERABERRHFRT R ="T H 2765
Trk126p9 A 18 1 | 1 T BN TR AR R HEIT KRB ALR 10445 HiD2 B ER AR R =T H 27T&TH
k1269 A 181 [ 1 T SR ORI AR R HERT RFBALR 947/ D2 B ERARBERR IR R =T H 28%F 1+
k1269 A 18 H 1 R RO FRTAR R HERT KRB AR 947/ D11 B ER AR R =T H 28% 35
k1269 A 181 1 T RN FRTAR R HERT KRB AR 947/ D11 B ERABERRHFRT R ="T H 28%55
k1269 7 18 H 1 T RN FRTAR R HERT KFBA R |948F D1 B ERABERRHFRT R ="T H 28FTH
k1269 7 18 H 1 T RN FRTAR R R KB AR |948F D1 B ER AR R =T H 2839+
k1269 A 181 1 T BN FRIAR R FERT KRB AR |948F D16 B ERARBERR IR R ="T H 28% 105
Trk126p9 A 18 H | 1y T BN TR AR R HEIT R BALR |948F D17 B ERARERRHRT R ="T H 28%11%
Trk126p9 A 18 H | 1 T BN TR AR R HEIT R BALR |948F D18 B ERARERRHRT R =T H 28%12%




